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Secenario 6 — APP Credit and Overpayment Process
820 I'ransaction - RMR Segment

Esnmpﬁuns:

Customer 15 served by an ESCO for one month for 2 product that requires 2 price guarantee.
2% POR.Discount Rate

Scenario;

AnESCO engmally talls for $100 but should have bills for no more than 8§73, The mitial credit to the
customer should have been for 525 but unmtentionally was for 530,

1} Original FSCO charge for 3100:
FEMPR~12~1238975432~PR~298.00~100.0:0~2.00

ESCO charges for Customer are 5100. Less 2 522% dizcount fes the ESCO receives a 598 payment
from the Utility

2} Initial FSCO credit back to the customer for $50;
EME*12*1238975432*AT*-40 00=-30.00* 1L 00*GR*-49:00

ESCO overcharged customer by 550 30 a credit 1z 183ued for 5300 S0 5350 dollars iz credited to the
customer and $4%2 15 deducted from the ESCO payment by the Utility.

3) Subseguent adjustment from ESCO to recover S1% since the 350 credit was incorrect:
RMR*12#1238975432*AT*24 5025 50*GR=24 30
ESCO realizes the customer should have mitially been charged 573 and they sent too large a credit and
want to.fecoup 3235 of the 530 eredit. The eustomer iz charged 525 and the ESCO recerves 2524 30
payment from the Utility.

Summarv/Review:

Looking at the origmal $100 charge (which should have been §73) the net is the same had they billed the
correct §75 ongmally:

EMR~12~1238975432~PR~73 .50~ 75.00~1.50

73.50 total payment to ESCO (98 +-49 + 24 50)
15.00 total ESCO charge (100 + -30 + 23)
-1.530total Dizcount Fee (-2 + 1 +-.30)



